BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)

Regd. Officer: Koyla Bhawan

For Job Sl. No.1

OFFICE OF THE CHIEF GENERAL MANAGER EASTERN WASHERY ZONE SUDAMDIH (DHANBAD)

1.	Name of work				ndary wall around Qr. No. B/4 for utilization as of Mahila Samity(Nari Shakti) at Bhojudih Coal
2.	Name of contractor		:		
	Address		:		
	N.I.T. Reference Date of Receipt of ten	der	:		
5.	Date of open of Tende	er		: •	
6.	Details of E.M.D.		:	No.	Date
7.	Money Receipt No. (for issue of tender paper)		:	No	Date

SIGNATURE OF ISSUING OFFICER

BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)

Regd. Officer: Koyla Bhawan

For Job Sl. No.-2 OFFICE OF THE CHIEF GENERAL MANAGER EASTERN WASHERY ZONE SUDAMDIH (DHANBAD)

: Rep. & Maint of Damaged 6" dia pipe line from Yadav Pump to Plant and 300mm dia pipe line near Railway Crossing gate at Patherdih Coal washery

1. Name of work

2.	Name of contractor	:			
	Address	:			
	N.I.T. Reference Date of Receipt of tender	:			
5.	Date of open of Tender	:			
6.	Details of E.M.D.	: N	О.	Date	
7.	Money Receipt No. (for issue of tender paper)	: N	No	Date	

SIGNATURE OF ISSUING OFFICER

BHARAT COCKING COAL LIMITED (A SUBSIDIARY OF COAL INDIA LIMITED) OFFICE OF THE CHIEF GENERAL MANAGER P.O.-SUDAMDIH, DIST-DHANBAD

Ref.: CGM(EWZ)/ACE/ Civil/Quatation/F /11-12/ Dated:- 22-06-2011

QUATATION NOTICE

Sealed quotation on %age (Percentage) above//below basis are hereby invited for following jobs from the working contractors and the same will be received upto 3.00 P.M. on 29.-06-2011 and will be opened on the dated 30-06-2011 at 11.00 A.M. in presence of the quotationers/ their authorised representatives. B.O.Q. for the job can be obtained from the office of the A.C.E,.EWZ, during working hours from 25-06.11 to 28.06.11 The quotation is also available on the web site http://bccl.cmpdi.co.in and can be down loaded .The other documents such as general term and conditions and additional safety measures etc. also can be seen in the office of ACE, EWZ on any working day which will be applicable to the contract the details of work is given below:-

Name of work	Estimate cost	Earnest money	Time	of
			completion	
1. Renovation of Boundary wall around Qr. No. B/4 for utilization as Library & office of BCW Unit of Mahila Samity(Nari Shakti) at Bhojudih Coal washery	Rs 82610.91	Rs 827/-	15 Days	
02 Rep. & Maint of Damaged 6" dia pipe line from Yadav Pump to Plant and 300mm dia pipe line near Railway Crossing gate at Patherdih Coal washery	Rs 29671.43	Rs 297/-	10 Days	

No material will be issued by the department for this work . The quotation to be submitted in single part . No tender without earnest money will be accepted. The tenderer have to submit permanent A/c No. of Incom Tax (PAN NO.) and TIN No. .

The estimate & specification of the work can be seen in the office of the undersigned During working hours. Any other information can also be obtained from the undersigned.

The quotationers have to deposit Earnest Money as stated above . If in cash money receipt should be attached with the quotation .The quotation without Earnest Money will be out rightly rejected.

The authority reserves the right to reject any or all the quotations received or split and distribution the work between more than one contractor and no reason for the rejection of all or any of the quotation will be given.

The contractor should abide by the labour act of Govt.of India Materials required for the works are to be arranged /procured by the Contractors .

AREA CIVIL ENGINEER E.W.ZONE, SUDAMDIH

Distribution:-

- 1. AllArea CGM/GM: for display in Notice board.
- 2. CM(CP)/Sr. Mgr. (C)/Sr Mgr. (F)
- 3. F.M.(EWZ), Sudamdih
- 4. Notice Board, Area office (EWZ) Sudamdih/SCW/PCW/BCW.
- 5. GM(Civil) Koyla Nagar

B.O.Q for Job Sl.No.I

Estimate for the work : Renovation of Boundary wall around Qr. No. B/4 for utilization as Library & office of BCW Unit of Mahila Samity(Nari Shakti) at Bhojudih Coal washery

Sl. No.	Description of Work	Unit	Rate	Qty	Amount	Remarks SOR '07'
01	Earth Work Excavation	M3	103.40	19.53	2019.40	2.8.1
02	PCC(1:4:8)	M3	2296.15	2.79	6406.25	4.1.9
03	2 nd Class B/W (1:6)	M3	2011.75	23.21	46692.71	6.1.2
04	2 nd class B/W (1:6) in SS	M3	2247.40	6.40	14383.36	6.4.2
05	12 mm Cement plaster (1:6)	M2	67.65	170.36	11524.85	13.1.2
06	Colour Washing on new work	M2	9.30	170.36	1584.34	13.39.1
			Total		Rs 82610.91	

B.O.Q for Job Sl.No. 2

Estimate for the work : Rep. & Maint of Damaged 6" dia pipe line from Yadav Pump to Plant and 300mm dia pipe line near Railway Crossing gate at Patherdih Coal washery

Sl. No.	Description of Work	Unit	Rate	Qty	Amount	Remarks SOR '07'
01	Repairing & Maint of Pipe line By Welding.	Per each	1618.31	15	Rs 24274.65	App.R.
02	Earth Cutting in foundation Area	a Per Cu.M	101.85	13.50	Rs 1374.97	2.6.1
03	Supplying Pig lead for 300mmdia and as per remarks	a Per Quintal	6742.20	0.30	Rs 2022.66	18.29
04	Providing flanget joint to double Flanget joint CI/GI pipe	Per Joint	246.05	2	Rs 492.10	18.30.7
05	Providing & laying in cement Concrete of specified gr.	Cu m2	3194.10	0.500	Rs 1597.05	4.1.4

Total Rs 29761.43

DECLARATION

I/We hereby declare that:-

- 1. I/our firm has not been banned or delisted by any Govt / PSU's.
- 2. None of me/us is/ are relative of employees of BCCL.
- 3. All information / documents along with this tender are genuine, authentic, true and valid.
- 4. If any information / Credentials submitted is found to be false or incorrect any time, Bharat Coking Coal Ltd.(BCCL) may cancel tender and action as deemed fit, forfeiture of all dues including Earnest money and banning
- 5. me/ our firm, which shall be due to our lapses without prejudice by BCCL.

Signature of tenderer